**	LakeCounty
沙	Division of Transportation

Summary of Bids Received

Project: St Marys Road at Metra Railroad

Section: 18-00102-25-DR

Description: Culvert Replacements (2 ea) and Culvert Lining (1 ea)

Bidder Campanella & Sons, Inc. Berger Excavating Contractors	Address 39207 N Magnetics Blvd 1205 Garland Road	City, State, Zip Wadsworth, IL 60083 Wauconda, IL 60084	Bond Bid Bond Bid Bond	Bid Price \$221,681.25 \$254,100.00	% Over/Under Eng. Estimate 3.62% 18.78%	\$ Over/Under Eng. Estimate \$7,749.25 \$40,168.00
Engineer's Estimate				\$213,932.00		
Design	IDOT(2)	Contract Bidder	Cc	ounty Engineer		
Finance	Bid Tab File	Resident Eng.		gr Capital Prograr	nming	
Construction	Project File	Request By Mail				



Return Bid Tabulation

Project: St Marys Road at Metra Railroad

Section: 18-00102-25-DR

Description: Culvert Replacements (2 ea) and Culvert Lining (1 ea)

Item		B			Eng Est	imate	Berger Excavati	ng Contractors	Campanella & Sons, Inc.		
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
1	20200100	EARTH EXCAVATION	12.0	CU YD	\$340.00	\$4,080.00	\$165.00	\$1,980.00	\$223.75	\$2,685.00	
2	20800150	TRENCH BACKFILL	11.0	CU YD	\$252.00	\$2,772.00	\$95.00	\$1,045.00	\$138.65	\$1,525.15	
3	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$50.00	\$5,000.00	\$2.50	\$250.00	\$65.60	\$6,560.00	
4	21400100	GRADING AND SHAPING DITCHES	50.0	FOOT	\$75.00	\$3,750.00	\$115.00	\$5,750.00	\$37.60	\$1,880.00	
5	28000510	INLET FILTERS	1.0	EACH	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00	
6	28100500	BROKEN CONCRETE RIPRAP	19.0	SQ YD	\$275.00	\$5,225.00	\$150.00	\$2,850.00	\$154.75	\$2,940.25	
7	44004250	PAVED SHOULDER REMOVAL	11.0	SQ YD	\$50.00	\$550.00	\$70.00	\$770.00	\$271.85	\$2,990.35	
8	48101200	AGGREGATE SHOULDERS, TYPE B	6.0	TON	\$225.00	\$1,350.00	\$140.00	\$840.00	\$306.70	\$1,840.20	
9	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	24.0	SQ YD	\$250.00	\$6,000.00	\$285.00	\$6,840.00	\$327.75	\$7,866.00	
10	50105220	PIPE CULVERT REMOVAL	137.0	FOOT	\$50.00	\$6,850.00	\$45.00	\$6,165.00	\$72.85	\$9,980.45	
11	547A5497	PIPE CULVERTS, CLASS A, TYPE 1 EQUIVALENT ROUND-SIZE 42"	47.0	FOOT	\$550.00	\$25,850.00	\$390.00	\$18,330.00	\$573.55	\$26,956.85	
12	550A0120	STORM SEWERS, CLASS A, TYPE 1 24"	10.0	FOOT	\$200.00	\$2,000.00	\$285.00	\$2,850.00	\$313.70	\$3,137.00	
13	60100905	PIPE DRAINS 4"	50.0	FOOT	\$35.00	\$1,750.00	\$5.00	\$250.00	\$54.70	\$2,735.00	
14	60100915	PIPE DRAINS 6"	50.0	FOOT	\$35.00	\$1,750.00	\$6.00	\$300.00	\$55.70	\$2,785.00	
15	60224459	MANHOLES, TYPE A, 8'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$30,000.00	\$30,000.00	\$14,000.00	\$14,000.00	\$18,840.00	\$18,840.00	
16	60261000	INLETS TO BE ADJUSTED WITH NEW TYPE 8 GRATE	1.0	EACH	\$3,500.00	\$3,500.00	\$950.00	\$950.00	\$985.00	\$985.00	
17	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	2,030.0	UNIT	\$1.00	\$2,030.00	\$1.00	\$2,030.00	\$1.00	\$2,030.00	
18	LC500242	GRATED CULVERT END SECTIONS, EQUIVALENT DIAMETER 42"	2.0	EACH	\$8,000.00	\$16,000.00	\$5,500.00	\$11,000.00	\$5,255.00	\$10,510.00	
19	X0325825	PAVEMENT REPLACEMENT	55.0	SQ YD	\$400.00	\$22,000.00	\$335.00	\$18,425.00	\$372.00	\$20,460.00	
20	X0326663	CURED-IN-PLACE PIPE LINER, 30"	62.0	FOOT	\$450.00	\$27,900.00	\$725.00	\$44,950.00	\$592.60	\$36,741.20	



Return Bid Tabulation

Project: St Marys Road at Metra Railroad

Section: 18-00102-25-DR

Description: Culvert Replacements (2 ea) and Culvert Lining (1 ea)

Item					Eng Est	imate	Berger Excavatir	ng Contractors	Campanella & Sons, Inc.	
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
21	X5420618	PIPE CULVERTS TO BE CLEANED 18"	40.0	FOOT	\$50.00	\$2,000.00	\$45.00	\$1,800.00	\$125.00	\$5,000.00
22	X6050040	REMOVING MANHOLES, SPECIAL	1.0	EACH	\$1,000.00	\$1,000.00	\$9,500.00	\$9,500.00	\$5,235.00	\$5,235.00
23	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$12,400.00	\$12,400.00	\$90,330.00	\$90,330.00	\$33,000.00	\$33,000.00
24	XX006343	SEEDING (COMPLETE)	188.0	SQ YD	\$50.00	\$9,400.00	\$35.00	\$6,580.00	\$27.60	\$5,188.80
25	XX006658	FLOCCULATION LOGS	5.0	EACH	\$200.00	\$1,000.00	\$10.00	\$50.00	\$60.00	\$300.00
26	XX006659	FLOCCULATION POWDER	5.0	POUND	\$75.00	\$375.00	\$5.00	\$25.00	\$20.00	\$100.00
27	XX008865	PERMEABLE PLASTIC BERM	83.0	FOOT	\$50.00	\$4,150.00	\$30.00	\$2,490.00	\$20.00	\$1,660.00
28	Z0048665	RAILROAD PROTECTIVE LIABILITY INSURANCE	1.0	L SUM	\$15,000.00	\$15,000.00	\$3,500.00	\$3,500.00	\$7,500.00	\$7,500.00
		Bid Total				\$213,932.00		\$254,100.00		\$221,681.25



Return Bid Details

Project: St Marys Road at Metra Railroad

Section: 18-00102-25-DR

Description: Culvert Replacements (2 ea) and Culvert Lining (1 ea)

Item					Eng Estimate				
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20200100	EARTH EXCAVATION	12.0	CU YD	\$340.00	\$4,080.00	\$165.00	\$223.75	\$194.38
2	20800150	TRENCH BACKFILL	11.0	CU YD	\$252.00	\$2,772.00	\$95.00	\$138.65	\$116.83
3	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$50.00	\$5,000.00	\$2.50	\$65.60	\$34.05
4	21400100	GRADING AND SHAPING DITCHES	50.0	FOOT	\$75.00	\$3,750.00	\$37.60	\$115.00	\$76.30
5	28000510	INLET FILTERS	1.0	EACH	\$250.00	\$250.00	\$250.00	\$250.00	\$250.00
6	28100500	BROKEN CONCRETE RIPRAP	19.0	SQ YD	\$275.00	\$5,225.00	\$150.00	\$154.75	\$152.38
7	44004250	PAVED SHOULDER REMOVAL	11.0	SQ YD	\$50.00	\$550.00	\$70.00	\$271.85	\$170.93
8	48101200	AGGREGATE SHOULDERS, TYPE B	6.0	TON	\$225.00	\$1,350.00	\$140.00	\$306.70	\$223.35
9	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	24.0	SQ YD	\$250.00	\$6,000.00	\$285.00	\$327.75	\$306.38
10	50105220	PIPE CULVERT REMOVAL	137.0	FOOT	\$50.00	\$6,850.00	\$45.00	\$72.85	\$58.93
11	54745497	PIPE CULVERTS, CLASS A, TYPE 1 EQUIVALENT ROUND-SIZE 42"	47.0	FOOT	\$550.00	\$25,850.00	\$390.00	\$573.55	\$481.78
12	550A0120	STORM SEWERS, CLASS A, TYPE 1 24"	10.0	FOOT	\$200.00	\$2,000.00	\$285.00	\$313.70	\$299.35
13	60100905	PIPE DRAINS 4"	50.0	FOOT	\$35.00	\$1,750.00	\$5.00	\$54.70	\$29.85
14	60100915	PIPE DRAINS 6"	50.0	FOOT	\$35.00	\$1,750.00	\$6.00	\$55.70	\$30.85



Return Bid Details

Project: St Marys Road at Metra Railroad

Section: 18-00102-25-DR

Description: Culvert Replacements (2 ea) and Culvert Lining (1 ea)

Item					Eng Estimate				
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
15	60224459	MANHOLES, TYPE A, 8'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$30,000.00	\$30,000.00	\$14,000.00	\$18,840.00	\$16,420.00
16	60261000	INLETS TO BE ADJUSTED WITH NEW TYPE 8 GRATE	1.0	EACH	\$3,500.00	\$3,500.00	\$950.00	\$985.00	\$967.50
17	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	2,030.0	UNIT	\$1.00	\$2,030.00	\$1.00	\$1.00	\$1.00
18	LC500242	GRATED CULVERT END SECTIONS, EQUIVALENT DIAMETER 42"	2.0	EACH	\$8,000.00	\$16,000.00	\$5,255.00	\$5,500.00	\$5,377.50
19	X0325825	PAVEMENT REPLACEMENT	55.0	SQ YD	\$400.00	\$22,000.00	\$335.00	\$372.00	\$353.50
20	X0326663	CURED-IN-PLACE PIPE LINER, 30"	62.0	FOOT	\$450.00	\$27,900.00	\$592.60	\$725.00	\$658.80
21	X5420618	PIPE CULVERTS TO BE CLEANED 18"	40.0	FOOT	\$50.00	\$2,000.00	\$45.00	\$125.00	\$85.00
22	X6050040	REMOVING MANHOLES, SPECIAL	1.0	EACH	\$1,000.00	\$1,000.00	\$5,235.00	\$9,500.00	\$7,367.50
23	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$12,400.00	\$12,400.00	\$33,000.00	\$90,330.00	\$61,665.00
24	XX006343	SEEDING (COMPLETE)	188.0	SQ YD	\$50.00	\$9,400.00	\$27.60	\$35.00	\$31.30
25	XX006658	FLOCCULATION LOGS	5.0	EACH	\$200.00	\$1,000.00	\$10.00	\$60.00	\$35.00
26	XX006659	FLOCCULATION POWDER	5.0	POUND	\$75.00	\$375.00	\$5.00	\$20.00	\$12.50



Return Bid Details

Project: St Marys Road at Metra Railroad

Section: 18-00102-25-DR

Description: Culvert Replacements (2 ea) and Culvert Lining (1 ea)

Item					Eng Estimate				
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
27	XX008865	PERMEABLE PLASTIC BERM	83.0	FOOT	\$50.00	\$4,150.00	\$20.00	\$30.00	\$25.00
28	Z0048665	RAILROAD PROTECTIVE LIABILITY INSURANCE	1.0	L SUM	\$15,000.00	\$15,000.00	\$3,500.00	\$7,500.00	\$5,500.00
		Bid Total				\$213,932.00			